moe
“:51125305“
Wob- THE SCHOLAR HIGH SCHOOL
PRELIMINARY EXAMINATION 2019
GEOGRAPHY(H.C.G-Paper 2)
STD: X (TWO HOURS)
Answers to this paper must be wiiften on the answer sheet provided separately.
You will not be allowed to write during the first 15 minutes.
This time is to be spent in reading the queslion paper.
The time given at the head of the paper Is the lime allowed for writing the answers.
Attempt seven questions in all. ' ‘
Part 1 Is compuisory. All questions from Part1are to be aftempted.
A lotal of five questions are lo be attempted from Partll
The intended marks for questions or parls of questions are given in brackets()
To be supplied with this paper :Survey of India map sheet No. _ and 20cm of twine.
Note: . PR N
i) In all map work ,make wise use of arrows fo avoid overcrowding of the map. _ .
_  no ake f the examination

i1) The extract of Survey of India Map Sheet No.  must not be faken outh o

hall.it must be handed over to the supervising examiner on completion of the paper.
ii) The Mpa given ate the end of this paper must be detached and after marking ,must be
fastened to your answer sheet. | | c
iv)All sub questions of the guestions must be answered in the correct serial order.
v)All working including rough work should be done on the same answer sheet which is use to

answer the rest of the paper.

Marks:80

@

PART 1{30 MARKS) -
Aftempt all questions from this Part
QUESTION 1: _ |
Study the extract of the survey of India Map sheet No. and answer the questions that
follow: (45D T e s ST
a) Give the six figure grid reference for: | _‘ - (2)
i) Temple at Dhann _ |
. Cod '
i) Survey -n'ee.Norm“veetof,Bhamra.-.v.-v,.--:,.\,- B
b) Measure the distance between Bhamra to Dhann? Show.calculation. ()
¢) Mention any two physical features in the grid square 0318:. (@
d) Which is the mosf densely populated ?Why? S (2)
e) What occupation dominates the extract ?Give a reason for the same? =~ (s
e

f) Identify the drainage pattemfir"l't'h_é‘ Qﬁd'SﬁUare: '
. . . S
g) Mention two reasons that indicate seasonal rainfall In the given extract, . (2
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h) Calculate the area enclosed south of northings-22. .

i) Identify the type of contour '"9439—&34—:&;“ Lﬁpv W

i) Whatdo the followmg terms mean?

i)Open scrub
u)Sheet rock
k) What do the follownng symbols represent? ,
i) 3rin gnd square 1018 .\. POT |
i) 5rin gnd square 0321 KABOOK 25\;@«
_ | ' The um‘@?‘,‘mf v
QUESTION 2: - . | _ W‘%‘fgﬂ‘ '

Nn
i) )

the outline map of India provided:

- a) Draw and 1abe|23'f:N

b) Mark and name Lake Chilika

c) Draw and label the winds that bring -heavy rainfall to Malabar coastr

d) Mark and label Western Ghats.

e) Mark and name the oilfield hear Gulf of khambhat.

f) Mark and name a port city in the east coast of India.’

g) Shade aregion in south where alﬂluviavl soil is found in abundance.’
h) Mark and Iabél river Kosi. | .

) Shade and name the region with sparsely population.

J) Mark and label River Brahmaputra. .-

{1y
(1)

(2)

(o)

U
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(1)

(1)

(1)
(1)
(1)
(1)
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QUESTION'3::

a) Explam the role of Himalayas dete

(Attempt any five questions:

Part {560 MarkJ

from this Parf)

rmiriing' 1na_ climate during:

“i) The cold weather season. ()
_\ii) Dunng the South West monsoon ‘ | (1)
~b)w Diﬁerentlate between retreatmg southwest monsoons and the north east
monsoon (Any two polnls) SR (2).
c) Study the cllmate data gwen below and the questlons that follow:
Station | month | Jan | Feb. | Mar. Ap}r“ Mayi Jun [Jul | Aug | Sep | Oct | Nov Dec
AT Te... 144 | 167 [ 233 :‘dg_,ni ;_;;73» 3:3.3 300 | 294 | 289 [256 | 194 145.5
_ - \Q,:.;,\ 75 |75 [13 [10 18 TA [T 78 | 118 |13 |02 | 10
B T Lv? 244 | 244 267 283 :\30.0“_- ”2;3.9‘ 1572 | 272 |27.2 | 278 | 27.2 | 255
- g |02 [02 T [4B 506|610 369 | 248 |48 |10
i) What is the annual range of temperature at station A and B? (2)
i) Iny which hemlsphere do you think Station A lies?Justify. (2
| m) “ VWhICh of these Sfation has an equable climate 7Name the wnnds that
: 'Staﬁon‘B-gets rainfall from? (2)
QUESTION 4:
a) Define thé followmg (3)
) .- Rill erasion
— ii) - Shelterbelts
‘ 1) Pedogenesns
b) Write' any two features of Ex Situ soils. (2)

c) ~Though mferhle and not very sunlable for agnculture for which other

purpose is late_nte 'soil commonly used? Explain the process by which
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Laterite soil is formed. (2)

d) Whatis adisadvantage of a black soil. Why is it black in coleur? {2)

e) State a conservation measure undertaken by the Govemment to protect
raviné areas. ' i L ‘ (1)

QUESTION 5:

a). i) Name thé type of forests that is the most widespré_ad in India. | (1)
iiState the two distinct fealures of this type of forests. O
‘ﬁDMent‘ion the region-where these forests are dom’:n_énﬂy found. (1)

b) State the type of trees that would pre-dominate in the follbwing regions:

i) Western slope of Western Ghats ' (1)
i} Kutch and Saurashtra in Gujarat S (1)
iii)  Sundarbans in West Bengal - (1)
) Himalayas - T (1)

c) State one measure the Govemmment of India has éﬂoptéd {o 'pr%eé.'e the
| remaining nafural forests.State any two protective functions of the forests. (3)

QUESTION 8: | o :
a) State two characteristics of inundation canals. (2
_ b) Whatis meant by watershed management? State the reason why
rainwater harvesting s essential. o 2
<) Identify the given method of imigalion and state its disadvantage. ~  (2)

t

)
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) ank trngatmn is. opu!ar |n Tamrl Nadu.
ii) Canal wnga‘uon is mémly concentrated in the northern plams e =
i) Well lrngaho S sﬁll used desplte the incoming of modern :methods (1 ),:;*4.7'{
l NS "‘"'ced in and and semi- and reglons -

v)  Sprinklerimiga

'?-QUESTION 7: i ' e
7T g) Explam the workmg of blogas planL Llst the advantagesof_wmdi

b) Nanie: two onlﬁelds of the westem coast "
c) Name the type of Iron ore which has the least iron content. Wh:ch typ

also known as black ore? | el e (2)
d) Mention two power houses on Bhakra Nangal dam. State the aimofthe

&ls

prOJectleakud L= CLonnd (2)
~ ) Which industry is the Iargestconsumerof Copper? Why7 R ¢)
QUESTION 8:

| v'a’)hWbat ig ¢ .e 'nust .r"yort ntfc udc.'op “- a?_! nowhi 2itly Sod n
does it grow? State the chmatzc condiions suitable for the crop. (@)

b) State reason why subsistence farming is still prachced in \lz[:l?la? : (2
..©),. Why are floods beneficial for-better, growth ¢ of jute? Wh:cmls the leading-

producer of jute? o ' . (2)
~'d) Name the superior quality of coffee cultivated in India .Why is silver oak -
planted with coffee? ‘ . (é), :
e) Explain the sett method of sugar cultivation. Name the method by wh:ch e
| tea leaves are plucked. .. | e o (1)
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QUESTION 2.
a) Stale two drawbacks of silk industry in India. (2)
b) Give reason:.
i) Uttar Pradesh produces 40% of India’s sugar. W)
i) Most of the petrochemical units are in Maharashtra or Gujarat. (1)
i)  Ahmedabad is not a port city yet it is the most important textile
~_centre of India. N ~ | (1)
c) Name the centre for each of the following: f
) - Shipbuiiding Spate Techeloys | )]
i) Adtemobite  Solf. Tdeths _ (1

d) Wthh is the largest mineral based industry? Name the centre of this
industry in public sector? Where does this industry get its water supply

from? v . (3)
QUESTION 10:
a) Name one natural harbor and one artificial harbour (2

b) Why is water transport not as popular as the other means of transport?

Mention the route of NWS5. . (2)
c) State the purpose that is served by Golden Quadnlateral @
d) Name the authorities responsible for the administration of the airports and
border areas. « | ) @
e) Besides being the fastest means of transport what other reasons make airways
popular? (2)
QUESTION 11:

a) Whatis meant by samtary landfill? Give any two effects of the same? (3)
b) Name the process for the following:
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D heps Deplehon of oxygen in ‘water due to phyteplankten {1
i) Processmg of dlscarded malenals into new ones” )
i) - Separahon of waste into different categones : (1)
iv). | lncreasmg m the tox;c substance alongme:food chain (1)

c) Idenllfy the type of pollutlo whose effectis seen in: the plcture gwen above.

Siaie two effecis of the saiie. - B P v T
d) Which is more harmful biomedical waste or household waste’? Justlfy (1)
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